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F- right ascension and declinationof star

☒ •- § of= latitude of observer
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E. = The east point on the horizon
when and where n rises

EZ -_ The east point on the horizon whentaobao.AT/risesN2--The north point on the horizon when ko***⇒ rises

z=
"

Rising amplitude
"
or

"
or five amplitude

"

II.5 tells us y=sin_s÷
D= "Ascension a /difference

"

or

"Equation of
Daylight

"

(if the object is the Sun ?)
I.5 tells us D= cos -1 %¥
or

D= cos
- 'É÷-

The larger V is , the sooner the star rises .


